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CONSTANTS AND TRIGONOMETRY g=9.80 m/s?
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PROJECTILE MOTION
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FORCE AND MOTION
Fret =ma Fg=mg fs,max = mN fk = mN

Uniform circular motion:  centripetal acceleration: a= VA/r
centripetal force: F = mv2ir

WORK AND ENERGY:
W =Fd(cosq) W= Fokt Fydy+ oty Wi DK Wapring = - %k(xf2 - x2)= %k(xi 2 x.2)

K =%m’2 DUgrav = Mg(¥ - ¥i)

Spring:  Fe=-kx DUSZ%k(xfz- x2)

Power: Pag= %



CONSERVATION OF ENERGY
W = DEnec + DBy DEqee= DK + DU
Or
Work due to nonconser vative forces: Wi = DEmec
Wne=DK+DUg+DUs  or  Kj+ Ug +Ug + Wne =K + Uy + Ug
If the system isisolated (no friction or applied forces do work on system):

0=DK + DUg + DUgq or K + Ugi +Ug =K + Ugf + Ug
CENTER OF MASS:
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LINEAR MOMENTUM:

p=nw Impulse: F,,,D = Dp=mv; - my,

For system of particles: Dpgy = é (mv); - é_ (mv),



